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Surface Area of a Cylinder 
 Name:__________________________                                                                                                                          Date:___________________ 

 

 

 

                                         

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

  

 

 

 

 

 

   

 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

To find the surface area of a cylinder. (A =2πrh+2πr2) 
 
 
 
 

Calculate the surface area of a cylinder if the height is 21 yd and the radius is 6 yd. 
 

If the diameter of a cylinder is 8 mm, height is 18 mm then find the surface area of a cylinder? 
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To find the surface area of a cylinder. (A =2πrh+2πr2) 
 
 
 
 

Calculate the surface area of a cylinder if the height is 21 yd and the radius is 6 yd. 
 

If the diameter of a cylinder is 8 mm, height is 18 mm then find the surface area of a cylinder? 
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138.23 m2 245.04 in2 


